
qm=;=+ sfo{qmd OsfO{ b/ hDdf /sd

1 cltl/Qm lqmofsnfk ;+rfng 6 40,000.0     240,000.0    

2 tflnd ;+rfng afnljsf; lz=,k|=c=,ljJo=; / lz=c=;+w 2 75,000.0     150,000.0    

3 ljBfno egf{ tyf :jfut sfo{qmd ;+rfng -         

S=dfljsf nflu 9 2,000.0      18,000.0     

v= cfwf/e'tsf nflu 10 1,500.0      15,000.0     

u=k|fylds txsf nflu 20 1,000.0      20,000.0     

3=cg'udg 1 50,000.0     50,000.0     

4 afnljsf; lzIff sfo{qmd -         

s= a;fO{ Joj:yfkg 10 5,000.0      50,000.0     

v= s]Gb| Joj:yfkg vr{ 2 80,000.0     160,000.0     

5 sIff !df English Medium ;+rfng -         

s= tflnd 1 100,000.0     100,000.0    

v==;Gb{e{ ;fdfu|L cg'bfg 100,000.0    

6 Sofn]G8/ 5kfO{ kl% %'^\^fOGf]

7 k|Zgkq lgdf{0f, l;sfO{ pknlJw ljZn]if0f ;DjlGw sfo{qmd 2 50,000.0     100,000.0    

8 k/LIff cg'udg P;=O{=O{=  / sIff *k/LIff 2 50,000.0     100,000.0    

9 ljBfnosf] lglh lzIfssf nflu cg'bfg lk=l;=km=;]n/L 9 950,000.0    

10 z}lIfs k|bz{gL tyf k|ltef klxrfg sfo{qmd 2 50,000.0     100,000.0    

11 ljBfnosf] ef}lts ;'wf/ 39 3,868,000.0   

12 ljBfnosf nflu z}lIfs ;fdfu|L ljt/0f 100,000.0    

13 k|=c=Pjd ljifout ;ldltsf] a}7s ;+rfng 10 10,000.0     100,000.0    

14 lzIff ;ldltsf] a}7s ;+rfng tyf Joj:yfkg 5 20,000.0     100,000.0    

15 pTs[i6 ljBfno,lzIfs Pjd ljBfyL{sf nflu ;Ddfg sfo{qmd 100,000.0    

16 c;xfo Pjd| ljkGg ju{sf ljBfyL{sf] nflu 100,000.0    

17 Jffnljsf; tyf ljBfno sd{rf/Lsf nflu kf]iffs eQf cg'bfg 102 2,000.0      204,000.0    

18 cfjf;lo ljBfno 2 300,000.0     600,000.0    

19 cleefjs lzIff tflnd 1 100,000.0     100,000.0    

20 ljBfno cg'udg vr{ 200,000.0    

21 b}lgs e|d0f eQf 200,000.0    

22 O{Gwg vr{ 75,000.0     

23 sfo{fno Joj:yfkg 100,000.0    

hDdf 8,000,000.0   

qm=;=+ ljBfnosf] gfd ;+rflnt sIff ljBFyL{ ;+Vof k|flj b/jlGb lgdflj b/jlGbdflj b/jlGb /sd

1= sNof)fL cf=e"=lj= 1 — 8 166 3 0 225,000.00  

2= kf^g cf=e"=lj= 1 — 8 78 4 0 100,000.00  

3= >L cf=e"=lj= 1 — 8 53 3 0 100,000.00  

4= ;[hgf cf=e"=lj= 1 — 7 140 5 0 125,000.00  

6= sfkmnjf/L k|f=lj= 1 10 0 100,000.00  

7= yfgL*f*f dflj 1 — 10 285 5 2 0 100,000.00  

8 hgbLk dflj 1 — 10 285 5 3 0 100,000.00  

9 a'$ ljsf; df=lj= 1 — 10 226 5 3 0 100,000.00  

hDdf 950,000.00  

ltgfp ufp+kflnsf ,lzIff zfvf

lzIff ;DjlGw of]hgf

cf=a=075÷076

9= ljBfnosf lglh lzIfsnfO{ cg'bfg lk=l;=Pkm ;]n/Lsf] ah]^ af+*kmf+*



qm=;=+ ljBfnosf] gfd &]ufgf sfo{qmd /sd

1 nIdL cfwf/et ljBfno ltgfp 6 d/dt 100,000.00   

2 e"ldzfnf cfwf/e't ljBfno ltgfp 5 d/dt 100,000.00   

3 Hof]lt k|f=lj= ltgfp 6 d/dt 50,000.00    

4 ;/:jtL cfwf/e't ljBfno ltgfp 1 d/dt 100,000.00   

5 lzz'Hof]lt k|f=lj= ltgfp 2 sDKo"^/ vl/b 75,000.00    

6 cfbz{ cfwf/e't ljBfno ltgfp 5 d/dt 100,000.00   

7 ;/:jtL k|f=lj= ltgfp 3 sDKo'^/ 50,000.00    

8 b]jLZj/L k|f=lj= ltgfp 1 d/dt 50,000.00    

9 d:ofd df=lj= ltgfp 6 sDkfp)* 200,000.00   

10 k[YjL k|sfz df=lj= ltgfp 4 vfg]kfgL 243,000.00   

11 bf]efg df=lj= ltgfp 2 vfg]kfgL 200,000.00   

12 !fgf]bo df=lj= ltgfp 1 d/dt 200,000.00   

13 ltnf]Qdf df=lj= ltgfp 3 tf/jf/ 200,000.00   

14 cfbz{ cfwf/e't ljBfno ltgfp 3 tf/jf/ 100,000.00   

15 a'$ ljsf; df=lj= ltgfp 5 tf/jf/ 150,000.00    

16 sflnsf cfwf/e't ljBfno ltgfp 2 d/dt 100,000.00   

17 sNof)fL cfwf/e't ljBfno ltgfp 5 tf/jf/ 100,000.00   

18 ?kf k|f=lj= ltgfp 2 sDkfp)* / u|Ln 75,000.00    

19 yflg*f+*f df=lj= ltgfp 2 d/dt 150,000.00    

20 o'jfjif{ df=lj= ltgfp 1 sIffsf]&f d/dt 200,000.00   

21 kf^g cfwf/e't ljBfno ltgfp 6 sDkfp)* 100,000.00   

22 ;TojtL k|f=lj= ltgfp 4 d/dt 50,000.00    

23  >Lcfwf/e't ljBfno ltgfp 6 sIffsf]&f d/dt 100,000.00   

24 ;/:jtL k|f=lj= ltgfp 6 sDkfp)* 50,000.00    

25 l;$ k|f=lj= ltgfp 1 sDkfp)* 50,000.00    

26 s')*nL k|f=lj= ltgfp 6 sDkfp)* 50,000.00    

27 cd/ k|f=lj= ltgfp 5 d/dt 25,000.00    

28 b]jL k|f=lj= ltgfp 6 d/dt 50,000.00    

29 afnHof]lt k|f=lj= ltgfp 2 d/dt 50,000.00    

30 ;[hgf cfwf/e't ljBfno ltgfp 3 v]nd}bfg lgdf{)f 100,000.00   

31 r/r/] k|f=lj= ltgfp 5 e"O{ a;fO{

32 hglbk df=lj= ltgfp 6 d/dt 150,000.00    

33 uf}tda'$ k|f=lj= ltgfp 3 d/dt 75,000.00    

34 a]]nrf}/ k|f=lj= ltgfp 1 tf/jf/ 75,000.00    

35 lzj k|f=lj= ltgfp 3 tf/jf/ 25,000.00    

36 hg k|f=lj= ltgfp 1 sDkfp)* 75,000.00    

37 hgHof]lt k|f=lj= ltgfp 1 d/dt 50,000.00    

38 luhgrf}/ k|f=lj= ltgfp 4 #]/fjf/ 100,000.00   

39 sfkmnaf/L k|f=lj= ltgfp 1 d/dt 50,000.00    

40 ;|f]ts]Gb| kmlg{r/ Joj:yfkg 100,000.00   

hDdf 3,868,000.00  

11=ef}lts ;'wf/sf] af+*kmf+*


